/
Worksheet: Mole/Mole Problems Name___ ' 1l

Answer each of the following questions using the equation provided. BE SURE TO
BALANCE EACH EQUATION BEFORE SOLVING ANY PROBLEMS. SHOW ALL
WORK.

L. _Z_’_NO + 0O 9&_]\302

a. 2 moles of NO will react with l mole(s) of O; to produce 2—/
mole(s) of NO-.

b. ? moles NO. = 3 6-motesO— x £ moles NGy r‘? ZMO/(; ?\/’
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c. How many moles of NO must react to form 4.67 moles of NO?
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a. 20 moles of NH3 are needed to produce 5O moles of H-0. -
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. How many moles of N2 will be produced if 3.5 moles of Oz react?
3 ae-O= x( Lhd N ﬁ> = 2.3 mo| N>
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&Ang + &Oz > _LA|2O3 + .ﬁ.@Fz

a. 20 moles of AlFs will pr'oduce g moles, of Fa.

(w WXC%ZA‘;M%) |30 hwl o

O % moles of A|F3 will react with 0.6 moles of O.

(o &Wﬁx@%i) 10.8mdl 473

4. ___CiHs + 502 > zc'oz + &Hzo

b. How manﬁr;jtes of CO; are produced if 3.5 moles of water are produced?
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a. Fillin ThE following word equation-- 3 B moles of oxygen gas react

with moles of iron to produce moles of iron (III) oxide.
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b. moles of O are required to produce 3.0 moles of iron (III)
oxide.
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